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3a.7ab =
5a%b.3ab? =
6a°b?.(-8ab?®) =
0,3xy.1,5y? =
(-3,2x%y?).2xy? =

(-8xy°)(-5x°y) =

21a%b
15a°b?
-48a%*b°®
0,45xy3
-6,4x3y*
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5a%.3ab =
4¢c%d.(-3cd) =
8xyz3.2x%y> =
(-5ab).(-ab) =
2a’c®.2ab’.3bc? =
(x+7).2=
5.(3-a)=

Z.(v+2)=

15a°b
-12¢3d?
16x°y*z°
5a%b?
12a’b*c®
2X + 14
15 - 5a
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(XxX+y-2).2= 2X+ 2y -2z

(2x + 3y). 4xy = 8x%y + 12xy?
(-8a + 3b). (-1) = 8a- 3b

(4d - 3e). (-7e) = -28de + 21¢€?
2ay. (-3a + 4y) = -6a%y + 8ay?

Sv. (2u + 3) = 10uv + 15v

rs .(3r2-7) = 3ris - 7rs



2%2.3x° = 6Xx°

4ab’ . (-5a°b?) = -20a°h®
8. (2x-3)= 16x - 24
(7a + 3b). (-2ab) = -14a% - 6ab?

3x%y . (2x - By) = Bx3y - 15x%y?



a(@+10) =
2X(X - 5) =
(-3y*)y +2) =
4ab(2a - 3b) =

(X% - 2xy + 3y?).2xy =

a’+ 10a
2x? - 10X
-3y3 - By?
8a’b - 12ab?

2X3y - 4x2y? + 6Xy°



